Materials used - Seed beads Toho 11 - 11TR121, 11TRPF21, 11TRSE1,
Crochet hook 0.75 or 0.1, thread, silver plated clasp.

Beaded crochet ropes are worked in circular crochet.
String the seed beads on the bead cord (yarn or thread) in a pattern (see the scheme on the next pages).
Chain 12, with a bead in each stitch. Join your chain to the 1st stitch with a beaded slip stitch.

Push the hook through loop an which 15t bead is fastened; push the first bead over the hook, down to the right
{left)and BE SURE to bring the thread from the spool OVER the top of the bead. Slide down the next bead and
fasten with a slip stitch.

Continue on in this manner, working in a slip stitch spiral, until the desired length is reached. Care should be taken
to see that there are ahways 12 beads around and that your pattern is looking right. If nat, then unravel the work
back to where it is right!

To finish the rope, cut your thread, leaving a tail and pull through the last stitch, Finally, glue your beads into your
cord ends to finish your bracelet.

Instruction to the scheme = string all the beads in the pattern starting from the top. Do not cut the thread.
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